53 Display Unit Parts List

NoovRe N

Front with graphic overlay, keyboard distance discs and protection glass.

LCD-module with backlight.
Backlight lamp, spare.
Keyboard assembly.
Controller Board assembly.
Power and Terminal Board assembly.
Mounting hardware kit
pes. 12 mm stand-offs with M3 stud and M3 hole
pes. 10 mm stand-offs with M3 through hole
pes. 110x 5 x 2 mm Foam rubber tape
pes.© 7x3x0.7mm nylon washer
pes. M3 x 5 screws, cylindrical head
pes. M3 x 8 screws, cylindrical head
pes. M3 x 8 screws, countersink head
pes. M3 x 8 screws, black finish
pes. 7x3x0.7mm nylon washer, black
Melamin cabinet with cable glands
Cabinet mounting kit
pes. M6 x 30 screws, pan head
pes. Nylon washers
pcs.  Serrated thumb nuts
pcs.  Aluminium angle supports for flush mounting
pe. Bracket for desktop or wall mounting

hh@ﬁ#l@wmh

=N DN N

nifly ¥ |



